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Human blood grouping was discovered by

a. Landsteiner b. Punett c. Correns
d. Muller e. Answer not known

alH DTHD UMBHENETSH 6w MIHSHEUT

a. Geval_erdle T b. yeaiGer c. Bamolyererd
d. @pevevrt e. alewL Oxflwalsvenev

Match the following;:

A. Aryabatta 1. Mathematician

B. Nagarjuna 2. Jain Scholar

C. Siddha Sena 3. Buddhist Scholar

D. Panini 4. Grammar Scholar
SLPHEMILaBenB  CUT(HHHIH.

A. yflw’ e 1. sewldh Geng

B. mrsitegeentt 2. FIDeWT DINSlEhIT

C. sz Ggen 3. Ubd SISlehiT

D. umewflef 4. B60dHH6EMT LIGOAIT

A
4
1
1
4
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N W N WA
RO RN g

©Tanop

alewL G flualsdenev

Which one is called as the development and maturation of the erythrocyte
from the haemocytoblast?
a. Erythropoiesis b. Erythrocynin c. Erythrocyte

d. Haemotocyte e. Answer not known
SpHBMILaBled  @IHH  Feul] Semidbde el GLmilenmerdig&erlel(Hb|
© (Houral (WPHTHFS SiwLeuHM@ G

a. efisACymuruidled b, erflgHCrmengeies c. afgHaHCrmengt
d. el GLrenal




Match the percentage of human Leukocytes

A. Neutrophils 1. 20-25%

B. Eosinophils 2.2-3%

C. Lymphocytes 3.5-6%

D. Monocytes 4.60 - 65%

eldH GeleTenamibHeilel FHaiddhemsd OCLT(HHIHIS.

A. Byl Gy, .L60ma 1.20-25%

B. rdlenm. . 6061 2.2-3%

C. bBurensL Hael 3.5-6%

D. GunGsmenaL_Haelt 4. 60 - 65%
A B C D

a 4 3 2 1

b 3 1 4 2

C 4 2 1 3

d 1 2 3 4

Which one is the largest cell in white blood corpuscles?

a. Lymphocytes b. Basophils c. Monocytes

d. Neutrophils e. Answer not known

Sp&ewiLaumnled Wasl QUi BJ&HsH GleueTem6UITNISHH6T 616n6l?

a. Vb BLITENFL_5H6IT b. GuBsm. L6061 C. GuorGenmena L (Hb6iT

d. Pugl Gym. . Nevmem e. alewL Gxfluwiaisvenev

Who is the father of surgery in India?

a. Charka b. Sushruta c. Nagarjuna

d. Vagbhatta e. Answer not known

Siplever FHFmFUla FHHms 61 DIMWPSHSLILGL BHSHUI HSSHIeUT WmT?
a. gy b. gerdmaiT C. [BT&ITTEY60IT

d. ausLGHT e. el OFflweaiedemnsv

The unit of currency used for trade during Rig-Vedic period was

a. Niska b. Rupee c.Pagoda d. Coin  e. Answer not known
e Gougd &TVHFHE0 auTaNEHH LWGILBGSHSLILLL BTl DIeVE 6157
a. plagsm b. epumus c. uGsTLT d. ara e alew. Gxfluwalsdensy

Which one of the following is not correctly matched?

a. Ayurveda - Medicine

b. Dhanurveda - Astronomy
c. Gandharvaveda - Music

d. Shilpaveda - Architecture

e. Answer not known
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10.

11.

12.

SLPSBTeMILIUBBIGT 61&H Flwms QUTHSHSLILL alevensv?

a. oLUTGeusLd - LO(HSHGIeULD
b. saITGaumid - AUTETANULIED

C. HMHSHTeUGMSHLD - Beong

d. fevriiBGeugid - BLIGL SHFHEN6V

Unpanishads are the books on

a. Religion b. Philosophy c.Yoga d.Law e. Answer not known
© LIHIL HRIS6T 6TAILIGHI 6THMSIL LBBIW LSHHBMmISH6N?

a. LpGHLD b. sH56uD c. Guimasm d. s L

Match the following;:

A. Sovereignty 1. Promoting social change to end all forms of inequalities

B. Socialism 2. Government of the people, by the people and for the
people

C. Secularism 3. Freedom to profess, preach and practice any religion

D. Democracy 4. Complete political freedom and supreme authority

QUTHSHHIS.

a. SenBUITETENLD 1. eT6euT al% GBBSHITDABMGNUID HBTHD FLPD

LOTBBHMS 2 (HEUTE G FH60
b. QuTgl BeLVCHTL LTH 2. OGBSI, DHBEHBETH, WHBEMBE OFUID Dyt &

C. LDSHFFMTLI6T6nLD 3. 6b® WHHMS CevewiBoTarTad LleLmmB, LenpaFThm
HSHHBITID

d. semmpTwISID 4. piPeb DIFuIed HHHHTD WLBBID BB SIS ST
A B C D

a. 4 1 3 2

b. 2 1 4 3

c. 3 2 1 4

d 1 2 3 4 e. el OFflwaiedemnsv

Who said that the preamble of the constitution is "the political horoscope
of the constitution?

a. KM.Munshi b. Dr. B.R. Ambedkar c. Mahatma Gandhi
d. Jawaharlal Nehru e. Answer not known

SITFWevemIolil] (PHLIMT 6Tl “‘OIfluievenioliiiesn OIfluied MTHEHID’  6l6ld
SmIWeuT wmr?

a. Gm.enb. (peitard) b. Dr. B.R. &ubBugasit C. DBTHIOT HMH)

d. 2geuamitevmed Gm(H e. alenL Gz fuwalsvensv

“Liberty, Equality and Fraternity” are the slogans given importance in the
preamble of our constitution. These were slogans of which Revolution?

a. American Revolution  b. French Revolution  c. Russian Revolution
d. Chinese Revolution e. Answer not known
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13.

14.

15.

16.
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“FHHATD,  FHHeID,  FCHTHISHGHIUD’ 6B (PIPHFMIBET @b
SITFWeVaLILT6T  (PpHaedIuled (WHSHwSH b SHIULL BeiTengl. Eevel  6lhHI
UL dlufedr (LpLpdSmicbeiT?

a. owfésl Yyl d b. OyEh&HL Lyl & C. Jagwll Lyl gl

d. a1 Yy e. alenL O flwelsvenev

Which amendment in 1976, inserted the word “secular’ in the preamble of]
the Indian Constitution?

a. 41 amendment b. 42 amendment c. 44 amendment

d. 45 amendment e. Answer not known

1976- b eI @hHw  SFFweosdolilet  (WHLIDTUTeD,  FLOWSFTTUBB
oI UTTHMD 61hd DTFUIevmILI] FLUL H(HHDHHH g CFiTdbaliil L g)?

a. 4leugl SFWevenIol] &H(HHHLD b. 22aus1 Sfwevemioli] HHHHLd

C. 4oz SIFFwevemiolil] H(HGHHID d. 450151 @fuievemioii] FHmSHHD

e. alemL Oz flwalsdanev

The Preamble was amended in 1976 to include the terms ,
and .

a. Socialist, democratic and republic b. Secular, socialist and democratic

c. Socialist, secular and integrity d. Integrity, secular and republic

e. Answer not known

1976 — 1b SeWNQeT SIFFUIED FTFRT H(HSHH FLLID CPEUD (LPHAUMT H(HHSHLD

CawiwiuC (G , LOBMILD o1 OFTBOMTLT&e6N
GairdbalILL L )|
a. FOSH(HLOD, DSHSENTL &, GQUITE b. wsanieienio, FOSTIOW, 1HHETTL

C. FIDSTIOD, WDHFTTLNGTENID, QHEWILTEH d. @HEDDLILTG, HFTTLIGEIENID, GHLQUIYd:
e. allemL  OFflwalsvensv

Who among the following was considered as the Chief Architect of Indian|
Secularism?

a. Gandhi b. Jawaharlal Nehru c. B.R. Ambedkar

d. Rajagopalachariyar e. Answer not known

SIS BHTILITHEHT @hFHWl HFFTTLNeTenoullet FABINwTs SHHULIBHLGUT wimT?
a. b b. 23euamiteored Gp(H c. B.R. oubBugasnit

d. @yme@smumeogmiwimi e. allemL  Oxfwalsvensv

Who initiated the objectives resolution for the preamble?

a. Jawaharlal Nehru b. BN Rau c¢. KM Munshi

d. BR Ambedkar e. Answer not known

waamyuler Chrohs SHToTaIhend WNT BTG 6UbH3!?

a. MelanTeured Gp(H b. M.ereir. gmeu c. Gm.e1b. (PO
d. DT obBusHET e. alenL  Gxfuwalsvensv




17.

18.

19.
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In the Kesavananda Bharati Case, the Supreme Court declared that

i.  the preamble to the constitution of India is not a part of the
constitution.

ii.  the preamble to the constitution of India is a source of power

iii. the preamble is an integral part of the Indian constitution.

a.ionly b.iiionly c.iandii d.iiand iii e. Answer not known

Crgaumenbd UMISH 6UPHHL 2 FFHHIOSBLD aupmiSul  STNT FTITDFLOTHS

BB FmBBIBeied o1dl/ eTenau Filuimereneu?

1. BphH SFFWeomlIF FULHHT (PHaen] DFFuIcvmlIF FL L 6
Q(H DIMIGBLO6VGV.

ii. @pFw  opfwempbliyF  FLLSHST  (PBD]T,  DTFHBTTHS 6
CarrBmieuTuwITe @ (HeuTsSLILLL Sl

1.  (pHeYem] 6TellZ bl SIFFWeveIDLI]  FUL SHHT  Q(HHIS N6mIHSH
L@G&HWITGLD.

a.iw’ @ b.iiiw’ Gb c.iwppid i d. i woppd il e. alewr. Gafuialsoensv

Match the following;:

A. First five year plan 1. Economic stability

B. Second five year plan 2. Growth with stability

C. Third five year plan 3. Problems of refugees, food shortage and

inflation

D. Fourth five year plan 4. Self-generating economy
LlesTeu(heueTauBenmLl  OILIT(hHSHIH.

A. (6L MHBTEIH S LD 1. QUTHETHTT HleM6VHHTEMLD
B. @yewiLmeug |pbsTewi(h SHL b 2. HMEVHBHETEMOUIL 6T FnlQUl 6UETTE S
C. epsipreug |bSHTeniB S L LD 3. SIBFHH6T, 2 W] LIBMBITSEHmB
LOBBID UIaiSES FldbHe0SH6N
D. mreismeig mbaHTemi® HiL b 4. &W 2 _(HeuTdhsL GUTHETTSHTILD
A B CcC D
a. 3 2 1 4
b. 4 1 2 3
c. 3 1 2 4
d 1 3 4 2 e. alenL O Muwalebensy

Which of the following statements are true about Eleventh Five Year Plan|

of India?

i.  The main focus of this plan was towards faster sustainable and more
inclusive growth

ii. = This plan stresses that benefits of development should reach all
sections of population

iii. Itaimed to provide employmen to 10 million people

a.ionly b.iand iii c.iandii d.iiand iii e. answer not known




20.

21.

22.

AhyHwnalear LHC@TEIBTUS  MbHTIhSH HLLHHI uBBw  LleeupLd

FBWIBH6N6L 61FH Filwimerrg?

1. BphsHH HLHIHOT (PSS HeUMID  aleDIEUTET,  [HleD6OWITE  LOBHILD
o e sbdwl euenTFdlenwl CrresHlusTes SmHboHH

1.  euenT&Auller LTS SIMTHBHISH ST  EHBMETUD  CFemenL Wl
GouewiBld eleiiLINS BbHSH HL LD auellBISHBHIF B

1. 10 wWevelwear 10&HHEHHG  GCoumeveuTuill] aupBIGaIns  CHTHHIOTS

OB TeuTL G
a.i 1ol (B b.i wommud iii w0 Bb Cc.1 oBmib ii ol (BHb
d.ii w@pid iii G e. alenL Oxflwalsvenev

Which Five Year plan focus on “Growth with Social Justice and Equality”?

i. Seventh Five Year Plan ii. Eighth Five Year Plan
iii. Ninth Five Year Plan iv. Tenth Five Year Plan
a.iandii b.iionly c.iiionlyd.iandiv e. Answer not known

b MbHTMIHH HULID “FUpsd BHFH WLBDBID FIOSHBHIUHHIL T  aUeTTFHlenul’]
Gprésons  Gsmeniberengl?

(i) goTeusl BHBTEWIG S LD (ii) o1 Lmeug ebFHTewih S L LD
(iii) @eLSTEUSH HBTEmI(H L L LD (iv) ussTeusHl WbHSTemI(h S L LD
a. (i) ompub (ii) b. (ii) wi (G c. (iii) L @B

d. (i)wBmiw (iv) e. alewL  Gafwalsdenso

The Growth target of the 12th Five-year plan of India is/as

a.7.8% b. 7% c. 8% d.85% e. Answer not known
12 ougl WbHTewih HU L SHHeT aenTFd @Bevdh@G —— QLGLD

a.7.8% b. 7% c. 8% d.85% e.alem. Oxfualsdenso

Choose the right matched pairs:

I.  Firstfive year plan -1950 - 1955

II.  Third Five year plan - 1966 - 1969

III.  Ninth Five year plan - 1997 - 2002

IV. Twelfth five year plan -2012 - 2017

a. l and II correct b. Il and IV correct c.Iand III only correct
d. ITand IV correct c. Answer not known

Fflwmer Denetenuld CHiIh0HBHBLD:

L. (PH6L WHBHTEIH S L LD - 1950 - 1955

II. cwpemrag |mbHTERIH SH LD - 1966 — 1969

III. @eausTOImH DMHHTEwIH L I1D - 1997 — 2002

IV. ueielOyemimoug smboTeni(h SH LD - 2012 — 2017

a.l wppo II &4 b. I wmwpid IV &fl c. 1 wsg I &
d.II wpm IV af e. alewr Gsflwaisvenev
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23.

24.

25.

26.

27.

28.

The model adopted in the second five-year plan was

a. Harod-Domar Model b. Kaldor model c. Meade’s model
d. Mahalanobis model e. Answer not known
BrewiLTeugdl MbHSTEHH HULHHL 2 (HeuTdSLUL L Lomg]
a. amgm® — GumorT T b. smeoLmiT omgHif C. 15 LoTgl
d. 1ameuBHmierd Loma e. oL GafNwaledamev

Prime Minister Nehru as chairperson “The National Planning
Commission” was established on

a. 15 March 1948 b. 15 March 1950 c. 15 August 1942

d. 15 August 1950 e. Answer not known

yswT Crm sHemevenoulled Cahdlwl FHILSHGW HBUlIULL BT

a. 1948 o 15 b H6i b. 1950 wonit& 15 b HIel

C. 1948 oiFHerOl. 15 YD 6T d. 1950 eymerdl’ 15 b Bl

The Three Annual Plans were implemented in India during the year
a.1965 - 68 b.1966 - 69 ¢.1967 -70 d.1968 -71 e. Answer not known
BHSHWTAN60 L&Dl (LPedB DLeWIH HI LD HeOL (LpenB LIBGSHSUILL L HTEVLD

a. 1965 - 68 b. 1966 - 69 c. 1967 - 70 d. 1968 - 71

Which of the following bodies regularly reviewed the five year plan?
a. National Development Council ~ b. Planning commission

c. Cabinet Secretariat d. Union Cabinet

e. Answer not known

OHSTENIH S LHBIGM6T LITUID BiBIeuetd 61gi?

a. Bxdw aueni&Fd &P b. L yememruid

c. CaUlarn QFWeIT SIEVIaIGVSLD d. wsHu Gasiiewm

NITI Aayog as replacement for the planning Commission was set up on

a. January 1, 2014 b. January 1, 2015 c. January 1, 2016
d. April 1, 2016 e. Answer not known

HLLS GWalBg wLIBBTe BHie luwrd Csmemi(y euFlILLL [HT6

a. meoteufl 1, 2014 b. ;gevteul 1, 2015 c. meteufl 1, 2016
d. guiged 1, 2016 e. alenL Gz fuwalsvensv

The first person of colour to lead the country Scotland is,

a. Rishi Sunak b. Anas Sarwar c. Humza Yousaf
d. Lisa Singh e. Answer not known

GIOSBTL_6VMTH 63T Yglul HEM6LGUTTH BaTH0HHSHSBLILIL (HelTern (LPSH6V
(©l6U6TTENEMUIT6V6VT HAUT,

a. fag seord b. sjemmerd giteuri C. QBIbFT uysll

d. adar dm e. alewL O fuwaledemnsv
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29.

30.

31.

32.

Consider the following statements

1. 90-year-old writer Kamalam Chinnasami has won the Avvaiyar award
2023.

2. Avvaiyar award comprises a medal, Rs. 1 lakh and a certificate.

3. Girl Child Empowerment award 2022 - 23 is awarded to M. [lampirai.

Which of the above statements is/are true?

a.1and 2 only b.1 and 3 only c. 1 only

d. All the above e. Answer not known

LesTeu(hlD SnMBmISHenen OLUISb.

1. 90 euwaTen  6I(IPSHIHTeNT  &Heold  Fevteorgmdl 2023940 SLeNIBHHEHTE0
SlelemaUITT al(Hend L CUBMBTT.

2. oWt al(hFHed @b UDHDHSD, @h VL FD (HUTUWI LBBID Q@ HSHIHEF
FTAID SIeMSHLILBHB MBS

3. 2022 — 239D SLewNgBETr OLIeWT GHLHDDHHEHHEG AHBTTSHSGID al(Hl
M. SenibLNenmdE QUPBIGBLILIL L F).

a. 1 Bmb 2 1wl Bid b.1 wBmib 3 1w G c. 1 (b

d. Cumamplu Smardhgid  e. el G fluwalsdemed

Who has won the FIFA’s best men’s player award for the year 2023.

a. Kylian Mbappe  b. Karim Benzema c. Christiano Ronaldo
d. Lionel Messi e. Answer not known

2023 s sewngeat Fmbd el alfmebseTer .. .uT alhosl GuBMeT,
a. dedwesr erbumiBu b. &flib Guesiom c. dpleropuimGerrm  GymeormeoGL

d. e88wrested GlerderS e. alewl. GFHflwiaievensv

The recently discovered Thiania indica is a

a. Jumping spider b. Naked - toed gecko c. Cuckoo wasp
d. Moray eel fish e. Answer not known

FLiUSFH60 Hewi(BLgHSILL L HuImelwm EewTgHT 61U

a. GHBGD Fevbd) b. Qeaupid &m60 OHHBHT  C. HTHBT GHonad
d. Gur@y mev Sest d. alew. Gsfuwelebensy

Consider the following

Assertion (A): Vernal equinox marks the beginning of spring in the
Northern hemisphere

Reason (R): During the vernal equinox, sun is directly above the Tropic of
Cancer

a. Both (A) and (R) are true and (R) is the correct explanation of (A)

b. Both (A) and (R) are false

c. (A) is true but (R) is false

d. Both (A) and (R) are true but (R) is not the correct explanation of (A)

e. Answer not known
LNevTeu(heueToBenm LIS
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33.

34.

35.

36.

37.

gaBm (A): BenGeuadied gwlILEITE BT 6ULEEG SIMIECHTNHH0  6UFHS
BTVHFH A OPHTLSHHHMWBHDH GHBHSH MBS

smyend (R): BenBouciied  FwlLseyey mreMer Curg Gflwer &L
Cremad@d CpT GG DIeWLOHH(HHGLD

a. (A) vppiw (R) @yemio sl Guosud (R), (A) el sflwmer aBprE@Ld

b. (A) wppio (R) Srewibo seusl

c. (A)afl semmed (R) seum

d. (A) wspd (R) @yemien s spemed (R), (A)albdeg sflwmer alendasiostso
d. el Gafwaledemev

The Indian film that has won the 95t Academy awards as the best
documentary short film is,
a. Meru b. Writing with fire c. Life overtakes me

d. The Elephant Whisperors e. Answer not known

9Saug SIBTLLD  al(hFHed FBhHS eIl GBIbUL SHeT al(Hend Cleuems
BhHw HewFLILL LD,

a. G b. eyl ald ..ewuwiT  C. eev..l1 @euTGL&erd LS
d. & eel. .uewi alerduyiTerd e. alewL O fuialedemev

Abel prize is given for the achievements in the field of,

a. Physics b. Mathematics c. Ecology d. Botany e. Answer not known
b SHlewBUWle URISTIIBSTS golLed Ufld eupmsILBSBSHI?

a. BumLiuied b. seigaiuisd C. @Glpevluled

d. sTauyaluied e. alewL O fuialedenso

Who is the first woman to operate the newly introduced Vande Bharat
express train?

a. Surekha Yadav ~ b. Rekha Sharma c. Rizwana

d. Geeta Rana e. Answer not known

UHHTE PIWPSILGSSIULL aublsh LUTIsH alemje @ruiemen SuiIsSswl (LPpgHeD
OLIewTLDGT,

a. &Crasr wrmel b. Gyar agiriom c. Merveumentm
d. &1 grewim e. alewL OFHfwalsdensv

World Hearing Day is observed on

a. March 10 b. March 3 c¢. March 30 d. March 18 e. Answer not known
® o0& OFalHHMT Held DiMIFTNHSLILBLD HT6NT,
a. g 10 b. writd 3 c. o 30 d. i 18 e. alenL OQFpflwaledenso

The state that has recorded maximum growth in February 2023 GST|

collection,
a. Tamil Nadu b. Maharashtra c. Uttar Pradesh
d. Gujarat e. Answer not known

Ogeufl 2023 @60 DIHBLULF JleTordly QUG60 aUeTTFS DL % LOTHIVLD,
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38.

39.

40.

41.

42.

43.
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a. SDBTH b. wsmyTadigyT C. 2 a5 UrBsaibd
d. e&xyrsH e. alewL Oxflwaisvenev

Mohammed sells a shirt costing Rs. 300 at 20 % loss to Salim. Salim sells it
at a profit of 10%. At what price did Salim sell the shirt?

waog 300 oLssalmev  Odmemi  FLewLenw  20%  HadSHHBS
FollBE elBmrT. Felib Sewg  10%  eomusHHBG  @IBBTeL, FeSlD  eTedTeN
allenevd@ FLewLenul alBmT?

a. Rs. 264 b. Rs. 270 c.Rs. 280 d. Rs. 330 e. Answer not known

Sanjay bought a bicycle for Rs. 5,000. He sold it for Rs. 600 less after twoj

years. Find the loss percentage.

FehgUl 10 euewigenuwl 5.5,000 &H@G UTRISTT. @Jewi(h QUHLMISEHHSGHL LIBG
th 600 GHewmHH QAIBMIT. 6T6lled BLL FHAHHWHD BT

a.10% b. 14% c. 8% d. 12% e. Answer not known

The price of an item inclusive of VAT is Rs. 9,720. If VAT is 8 % then the
cost price of the item is

HIFL B el et g OuTmefe alewed h. 9,720. wHY G eufl 8%
oI DIHT DL HBH 66N 616316017

a. 9,000 Rs. b. 9,100 Rs. c. 9,120 Rs d. 9,200 Rs. e. Answer not known

Arun buys a colour T.V set for ¥ 15,000 and sells it at a loss of 15% what is
the selling price of the T.V. set:

SIHEWT  @Q(H  eUewienidh OFHTenevdsST FI  Guligenw ch 15,000 &@G 6uThIS
oipmer  15% BLLSABG oIBprT  eeled  OIH0BTMBHHHT S QUL igues
alBuemer aflensv WITSHI?

a.¥ 12,750 b. ¥ 12,500 c.¥ 13,000

d.¥ 11,750 e. Answer not known

If 20% discount on the marked price and then another 5% discount on the

new price is given then the overall discount is

a.22% b.23.5% «c.24% d. 25% e. Answer not known

&Pss almeuledmba 20% Seepupud, @b Uzl elmeouledmhbs Goaib
5% HeepLiguild OBTBSHBLILILLTeL GIOTHHHH60 HeiEmLIg

a.22% b.23.5% c.24% d. 25% e. alewL G flwalsvensv

The cost price of 12 articles is equal to that of the selling price of 9 articles.

Compute the gain or loss in percentage
12 Qumpl sefledt SILHS alemeowTearidl 9 OuTmL Solet alBUmeT  allenevdhE
FIOLOTEUIT60, 6UML DIV HOI FHATHHMBHDH BHTCwIH.

a. 35 %% b. 33 %% c. 31 %% d. 33 %% e. Answer not known




44.

45.

46.

47.

48.
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By selling an article for ¥72, there is a loss of 10%. In order to gain 5%, its
selling price should be:

a. {87 b. 85 c. 380 d. ¥84 e. Answer not known

@ Gurmenen I725@ alBumer OFulamTed 10 el(pdssTH HLULID gBUBSMBEI.
5 elupsat® @eorud Oup  Geuewid elafled, SbHHL  GUT(HETeT  alBLeeT
allemev eleiladlaUTd E(Hbd Gouewt(BLD?

a. {87 b. 85 c. 380 d. ¥84 e. alew OFflwialedenev

A shopkeeper sells one transistor for ¥840 at a gain of 20% and another for
Y960 at a loss of 4%. His total gain or loss percent is

a.5 =% loss b.5 2% gain c.62% gain
17 17 3

d. None of these e. Answer not known

Qh SOLSHMT @ Iraideoreny I 840 &g 20% eomushHeid, BB
960 b3 4% pLLSHD aBAMBIT. SQUHMLW OQOTHSH 6UTL SIGV6VH! [HL L
FHAIHLD 616076017

a.b %% BLLLD b.5 %% GUITLILD c.6 %% GUITLILD

d. @meu gEIdevamev e. alewL Oxflwaisvenev

A shopkeeper professes to sell his goods on cost price, but uses 800 gm,
instead of 1 Kg. What is his gain %?

RH SOLEDHM] HOIH OCUTHL SemeT aMTmIBW alemevdCs alBaSImy, SLermed 1
FBouralBFH wuHeonsd 800 Symd LWSTUGSHIPMBTT  eTefled SlUTH  60TL %
sT6BTGO.

a.10% b.15% c. 20% d. 25% e. Answer not known

By selling goods at Rs. 36, a merchant loses 10% on his outlay. Find the
percentage of profit when he sells the same at Rs.45

@@ elwrumf @@ GuThemer ¢h. 36 &G alBumer QFUISHTed 10% HOAGL LD
SIMLHBTT 6Teallen, IBH CuTHemeT . 45 &G alBumer GFUISHTL 6l6laleTa)|
FHANHD UTULD SHlenL HGLD

a.1l6.5% b.13.5% ¢c.9% d.12.5% e. Answer not known

The fraudful forfeit life and being here below;

Who fraud eschew the bliss of heavenly beings know.

In the above Kural the term heavenly beings means

a. New world b. heavenly world c. This world
d. None of these e. Answer not known

HONMUTTHGHS Heil@pd 2 uliplensy SH6lTeuTiTd@Hd

serenmgl Us6H @mend

Guomsremid Gmeled LHCH ©heN@ 6IailGHen GUT(HeT wmg)?

a. Ul 2 _60&kLlD b. Geevssid C. ©6I6|60sHLID




49.

50.

d. @meu gaidledeney €. alenl OB fuialedenso

For whom there is no need for a shaver crown, non of tangled hain?
a. For saints

b. Those whose mind is defiled

c. Those who not saking desire in their heart

d. Those who shut what all the world condemns as wrong
e. Answer not known

IPISHSHEID, BLLeuID GeuewiLmTD - Wm(HdbE?

a. FBCeauriTé@ b. werssz wre 2 L GuinTdhE
C. ObEhdFledT FHIBEUTTESG) d. 2 s LPSBE RNOSHCHTTHE
e. allewL OaMwealedeneo

The Five elements will laugh at him who?

a. Who with deceitful mind b. Who is unable to control his mind
c. Who with defiled mind d. Unlearned

e. Answer not known

MDY HMIBEHD FHD(PeTCerm wimenydh Hewi(y Fifld@GHWb?

QUEhFHIEH OLITWIOUIT(LDE S HNSH

LOTENSH HILHGHLD 6ULEVEDLD  E6V6VIT 6168601

oeTSHle0 1omg 2 el Guimeniy

&606VITH6U6M]J

alewL G fluwalsbenev
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